
SAP ABAP table ODP_S_HIERARCHY_ELEMENT {Hierarchy Element}

ODP_S_HIERARCHY_ELEMENT

HEADERID [RAW (20)]

NODEID [RAW (20)]

PARENTID [RAW (20)]

CHILDID [RAW (20)]

NEXTID [RAW (20)]

 ODP_S_HIERARCHY_ELEMENT-CHILDID = ODP_S_HIERARCHY_ELEMENT-NODEID 
{0,1}{0,1}

 ODP_S_HIERARCHY_ELEMENT-NEXTID = ODP_S_HIERARCHY_ELEMENT-NODEID 

{0,1}{0,1}

 ODP_S_HIERARCHY_ELEMENT-PARENTID = ODP_S_HIERARCHY_ELEMENT-NODEID 

0..N
{0,1}

ODP_S_HIERARCHY_HEADER

HEADERID [RAW (20)]

 ODP_S_HIERARCHY_ELEMENT-HEADERID = ODP_S_HIERARCHY_HEADER-HEADERID 
1..N1


